
RM-660
DUAL MOUNT

B
C

A

D

E

RM-661
SINGLE MOUNT

WITH SHELF

A

E

D

C
B

F

A  FRONT MOUNTING PLATE x1

B  SCREW M6x16 SLOTTED PAN  x4

x4

x4

x8

x1

x2

x4

x4

A

B
C

D

E

RM-660
DUAL VERTICAL 
MOUNT

1U HALF RACK MOUNTING OPTIONS

NOTE:
1U PRODUCT IMAGES ARE FOR ILLUSTRATION PURPOSES ONLY AND ARE NOT INCLUDED.
SOME PRODUCTS HAVE THE OPTION TO BE VERTICALLY MOUNTED ALSO SURFACE MOUNTED 
TOP AND BOTTOM AND REQUIRE DIFFERENT SIZED FASTENERS.

C  M6 WASHER 

D  M6 CAGE NUT 

E  SCREW M3x6 POZI PAN 

F  SHELF  

G  SURFACE MOUNT  

H  SCREW M3x6  POZI CSK 

 I  SCREW M2.5x6 POZI CSK 

MNL-RM-1U-HR-V1



G
I GI

G I
I

G

G H

RM-601
SURFACE MOUNT

BOTTOM MOUNTING
OPTION

RM-601
SURFACE MOUNT

TOP AND BOTTOM 
MOUNTING OPTIONS

MNL-RM-1U-HR-V1


	Sheet1
	Drawing View2
	Drawing View3
	Drawing View17
	Drawing View18
	Drawing View19
	Drawing View20
	Drawing View21
	Drawing View22
	Drawing View24
	Drawing View25
	Drawing View26
	Drawing View29
	Drawing View30
	Drawing View31
	Drawing View32
	Drawing View33
	Drawing View38

	Sheet2
	Drawing View9
	Drawing View10
	Drawing View15
	Drawing View16
	Drawing View34
	Drawing View35


